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As per NEP-2020 Framework / Guideline the following pattern for internal
evaluation is to be done. All HODS/Staff’s are requested to Communicate the students and
follow the prescribed pattern for evaluation as well as preparation of questions manuscripts

Topics for Assignment, Quiz,Surprise test etc.

Appearing the Mid Term examination is mandatory to pass that Semester.

Type Subjects / Papers having Subjects / papers without
Practical Practical
Theory: 1 mark 3 (Comp.)
1 mark Qu.- 2 (Compulsory) 2 mark 2 (Comp.)
Mid Sem. 1.5 mark Qu.-2 (Compulsory) 5 me;rk 1(Out of Two)
5 mark Qu-1 (Out of Two) 8 mark 1(Out of Two)
Total = 10 marks / 1 hour Total =20 marks / 1 hour
Practical=10 marks (Written form)
Maximum = 05 marks Maximum = 05 marks
Attendance Above -95% = 05 marks Above- 95% = 05 marks
85% ----94% = 04 marks 85%---- 94% = 04 marks
75% ----84% = 03 marks 75% ----84% =03 marks

A Students having less then 75% attendance is not eligible to seat in End Term

examinations.

Quiz / Surprise
test

05 marks in written form

Assignment

10 marks in written form |

XXXX

05 marks written form on
the topic

Total

Theory:- 20 / Practical- 10
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END SEMESTER EXAMINATIONS QUESTION PATTERN

Type Subjects / Papers having both Practical/non Practical

Sec -A:

Ql - 1x10=10 (MCQ/ One word /One line Compulsory)

END Sem. | Q2- 2x9 = 18 (within 50 words Compulsory)

Sec -B:

Q3- 5x8 =40 (8 Out of Ten choice within 250 words)

Sec -C:

Answer any four out of Five (Each questmn Answer within 800 word ) (8x4 =32)
Q4, Q5, Q6,Q7, Q8

Total = 100 marks / 3 hour

Experiment - 10 marks
Practical | Record - 05 marks

Viva - 05 marks

Total =20 marks / 3 hour

Credit Points are Calculated from 50% of Secured Marks of Theory of Practical
Subjects/Papers and 60% of Secured Marks of without Practical Subjects/Papers.
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